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AA-1333
(008) B.Com. (Part-II) (10+2+3)

Term End Examination, 2021-22
Cost Accounting

Compulsory/Optional
(Group-II)
(Paper-I)
Time : 3 hrs. | | Maximum Marks : 75
qe — g gl & IR S | FHT 99T % Sk FA €
Answer all questions. All questions carry equal marks.
[ZFE-1 / Unit-1]
1. “Ueh N AN W@l YTl Ja=4ehl & ol ST 39 8 17 36 99 &l Tedtd | &I ardl 1 9o
T |
“Good costing system is an invaluable aid to management.” Enumerate the chief points in support
of this statement.
ATAT/OR
(@) Triiehd FETST | “Hal=a ST U8 ST YG(d Sl @ BT IR A 87 LR ol @il §912d

From the following informations prepare stores Ledger Account on the basis of ‘Highest-in-first at

(HIFO) method :

Ut g T it
Material Received Material Issued
1 Jan. 200kg @3 10 6 Jan. 90 kg

15Jan. 400 kg @R 30 18 Jan. 200 kg
25Jan. 100kg @X 20 28 Jan. 410 kg

(@) fodedt STeeT A1 SEERIT W HIfT |

2. (&)

(@)

Explain the concept of Economic order quantity.

[s&E-11 / Unit-1I]
A AT Pl b TG AT & 7 TR qAT STHET BREN 99 § 98 Iy | 7%
How is Labour turnover measured ? Also distinguish between Normal and Abnormal idle time.

1 fereRor | 9% Fehg i 31 HITT ST b hrRaEm™ § Uek faQiy |18 61 iR Hes Tebr & fog steasaes

B 7V
3

(1) | 592 BRI i AG 20,500

(2) srferaH T sr Hoigdl 2,200

(8) STRIT AT 1,700

(4) FHAR T5F 9T H HHART & 9N & w500

(5) HHATN T JIISIS HUS | 3{IEM 1,600

(6) 30 HHATRAT & T 10 UfcHTE HI & & Hebre fharar aga fohar AT |

(P. T. O.)



AA-1333

(1)
(2)
3)
4)

(2)

From the following particulars, find the amount of cash required for payment of wages in a factory
for a particular month : 3
(1) Wages for normal hours worked 20,500
(2) Wages for overtime 2,200
(3) Leavewages 1,700
(4) Deduction of employees share to E.S.I. contribution 500
(5) Employees contribution to provident fund 1,600
(6) House rent to be recovered from 30 employees at the rate & 10 per month

ATAT/OR

Tefie =ver X & fefor # fh-foheT ATl @l &I @1 ST & 2 A0 99eT &Y @ (EReT &1 U T
it |

What principal factors are to be considered while computing machine hour rate ? Give a specimen
of computing Machine Hour Rate.

[z#E-3 / Unit-III]
31 T 2021 B FEI B AT a6 @ forg ofiww fafies & @l & 7 geand yee & &

3
TR HHUT 70,000
Gede] Hogdl 54,000
HIET YR 16,200
YT 9 9T 9 11,216
TOET HINT
HIET AN
HIOT 1 /e AT

FREM & IURATT BT AL & G gfcIerd
TIIET F G 1 BT HIEET ARG b ey gfaemT |
T UHT AW & S99 & [T =it 7 T o Sgd Al o o T 720 FT 3R T 600 HoTgd!

R T B SR He AR TR 15% BT A9 7T 2
The accounts of Shri Ram Ltd. shows the following information for the year ending 31st March
2021 :

3
Material used 70,000
Direct wages 54,000
Works overhead 16,200

Establishment and general expenses 11,216

Calculate :

Works cost

Total cost of manufacture

The percentage that works overhead bears to direct wages.

Establishment and General Expenses as percentage to works cost.

What price should the company quote to manufacture a machine which, it is estimated, will require
an expenditure of¥ 720 on materials and¥ 600 on wages so that it will yield a profit of 15% on the
total cost ?
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FTq/OR
frfafad & 31 @ R-401 a1
g A T 89,600; ASIGU T 26,400; faSw wive T 17,600; €Y FFifT T 7,040; G SR
T 3,300

3
3T I AN : FAM B Gl 2,200
ST hl FoT 352
M A Y T 2,640

SHT 13 e § I EIT, T AN % 3T | WIS Bl IREHD AN W 15%, BT HIEHT dlel &
TIT | ARIT T G SR T I BT TeI-hA: T 2,200 T T 890 BT gaeX T Jufeitad I
T 20,000 TAT BT 15% Yl 39 3eh YT ATl AT T |

ST IATET I [l HREMT T T 10% Bl & F YSH BT | 36T T T 1,00,000 2T |

Write up contract No. 401R : From the following particulars :

Direct Materials ¥ 39,600; Wages ¥ 26,400; Special plant¥ 17,600, Stores issued¥ 7,040; Loose
tools ¥ 3,300 3

Cost of tractor’s : Running materials 2,200

Wages of driver’s etc 3,520

Other direct charges 2,640

The contract was completed in 13 weeks, at the end of which period plant was returned subject to
depreciation of 15% on the original cost. The values of loose tools and stores returned were
T 2,200 and ¥ 890 respectively. The W.D.V. of the tractor was¥ 20,000 and depreciation was to be
charged to this contract at the rate of 15% per annum.

You are required to provide for administrative expenses at the rate of 10% on total works cost. The
contract price was ¥ 1,00,000.

[ZFE-IV / Unit-1V]
frfafiaa faaeor st ufshar & qafera & - 10

The following particulars :

Unit Amount (Rs.)
Direct materials — 4,000
Direct Labour 3,000
Transfer from the first process 5,000 12,000
Transfer to finished product 4,200 —

ishaT § STUET HTLET AT Bl SN0 JI&T T T 100% 1 X F TR ST1ar & | FET= &1 20%
STAXT HT T T 5 UiT IS & | TR BT |

The factory overhead in process is absorbed @ 100% on direct materials, Normal wastage 20%.
The scrap value is ¥ 5 per unit. Prepare :

i~ ishar @

Last Process Account

JHT 219 dTdl

Normal Wastage Account

GIHHI dd dlql
Abnormal Effectiveness Account
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Fgar/OR
Teh EISH I ST 200 Tehel HHY Bl AAT 40 8L B BT | 365 & & a6 W H Tehdt 31X il &1

JehTY o hiAl & R T& &1 3Ed 80% TFATIIT & | Gled HHRI T fohardr Uehd ik & 125% et fomar

T 8 | AN R YR S

A hotel has a capacity of 200 single rooms the average occupancy of both single and double rooms
is expected to be 80% throughout the year of 365 days. The rent for double rooms has been fixed at
125% of the rent of single room. The costs are us under :

RIS @ (Variable costs) 4

T HH 110 9g% fa
(Single rooms) (110 each per day)
HEUCEN 175 9% &
(Double rooms) (175 each per day)
e @ra (Fixed costs)

Tehel B 60 9 foT
(Single rooms) (60 each per day)
FEUEN 125 J&s o
(Double rooms) (125 each per day)
Tehel TG &8l AT @ foTT TiciieT ohird el TOMT 36 Jeh o1 788 Bl & HAU & fhid W 20%
GR&T T HHET AT T T |

Calculate the rent chargeable for single and double rooms per day in such a way that the hotel earns
a margin of safety 20% on hire of rooms.

[Z#E-V / Unit-V]
AN W@Teh a7 T d@ishT & YRUH & 3T @ 0T bl T BT | Teh hIca-ch THTENT
faravor o qar oY wifsa |

State the reasons of disaggrement between the costing and financial results. Prepare an imaginary
Reconciliation statement.

ITqQT/OR
frfoRad 99l & TOMT Hifg
From the following data calculate :
NIMRIEIRCNEIR
(P/V ratio)
40,000 I el 9T @TH
(Profit at the sales of ¥ 40,000)

oha T 20% BT H & 99ATd T 8,000 TATH ARAd B & fog fasha &t Al |
Sales in rupees to earn a profit of% 8,000 after reducing selling price by 20%

o =g T 8,000
Fixed cost
gui=e 4 suai 9 T 20,000

Break even point in rupees



